

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

## **TAX INVOICE**

EQ INSURANCE COMPANY LTD

5 MAXWELL ROAD #17-00 TOWER BLOCK MND COMPLEX

SINGAPORE 069110

INV No. AC2207166

INV Date 21/11/2022

Reference CS1/EQI22007651/Gcy3e2

Code EQI

### **PROFESSIONAL SERVICE FEE**

Vehicle No. SMV 6744C

Insured Veh. GBA 5270A

Claim No. DM21HO01520/JT

Policy No.

Accident Date 26/09/2021

Inspection Date

Description	Total
Evaluation	150.00
Subtotal	150.00
GST (7%)	10.50
Grand Total	160.50

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

**LKK Auto Consultants Pte Ltd** 

**KHM** 



51 UBI AVE 1, #02-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL: (065) 62563561 FAX: (065) 62564315

Your Ref: DM21HO01520/JT Date: 21st Nov 2022

Our Ref: CS1/EQI22007651/Gcy3e2

#### M/s EQ Insurance Company LTD

5 Maxwell Road #17-00 Tower Block MND Complex Singapore 069110 (The Motor Claims Department)

Dear Sir / Madam,

### EVALUATION REPORT (PAPER SURVEY) OF ACCIDENT VEHICLE NO: SMV 6744C

INSURED VEHICLE: GBA 5270A ACCIDENT DATE: 26/09/2021

We thank you for your instruction on 11/08/2022.

We acknowledge receipt of the following documents:-

- a) Automobile Inspection Report of SMV 6744C from M/s Impact Analysis Consultant.
- b) Singapore Accident Statement and Police Report of Vehicles SMV 6744C.
- c) Colour damaged vehicle photographs of SMV 6744C.

Based on the documents received from you, we have evaluated the damages of the vehicle and have the following comments:-

1. Information Recorded: -

Registration Number : SMV 6744C

Make & Model : Hyundai AD Avante 1.6 GLS (A)

Chassis Number : KMHD841CMLU100900

Year of Registration : 2020 Engine Capacity : 1591 cc

- 2. We recommend that the repairs of the entire damage require about <u>7 (Seven)</u> working days to complete.
- 3. We hereby provide our recommendations on the cost of repair to the damaged vehicle as stated in the following page.



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMV 6744C

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET	DAMAGED	1,910.30	1,741.20
2	BONNET HINGE @\$55.20	DAMAGED	110.40	70.00
1	BONNET LOCK	DAMAGED	75.00	75.00
1	BONNET LOCK CABLE	SERVICEABLE	85.80	-
1	BONNET INSULATOR	SERVICEABLE	122.00	-
1	FRONT BUMPER	SERVICEABLE	552.00	-
1	FRONT BUMPER SPONGE	DAMAGED	168.90	168.90
1	FRONT BUMPER REINFORCEMENT	DAMAGED	795.80	385.50
1	FRONT BUMPER LOWER GRILLE	SERVICEABLE	121.00	-
2	FRONT BUMPER SIDE RETAINER @\$31.20	DAMAGED / NECESSARY (1PC ONLY)	62.40	31.20
2	FRONT BUMPER FOG LAMP @\$211.20	N/S MISSING / O/S REUSE	422.40	211.20
1	FRONT BUMPER LOWER DEFLECTOR	DAMAGED	110.00	110.00
2	FRONT BUMPER AIR DUCT @\$75.50	DAMAGED (1PC ONLY)	150.00	75.50
1	FRONT BUMPER TOP RUBBER SEAL	DAMAGED	42.10	42.10
1	FRONT BUMPER AIR GRILLE LH	DAMAGED	71.00	71.00
1	FRONT BUMPER SIDE TRIM LH	DAMAGED	32.00	32.00
2	FRONT BUMPER UPPER SUPPORT @\$77.20	DAMAGED (1PC ONLY)	154.40	77.20
1	FRONT BUMPER TOW COVER	DAMAGED	38.10	38.10
1	FRONT BUMPER LOWER BEAM	SERVICEABLE	199.40	-
1	FRONT RADIATOR GRILLE ASSY	DAMAGED	498.50	498.50
1	FRONT RADIATOR GRILLE LOGO	DAMAGED	45.70	45.70
2	HEADLAMP @\$1298.80	DAMAGED	2,597.60	1,298.80
1	HEADLAMP BRACKET LH	DAMAGED	61.00	61.00
1	HEADLAMP BACK COVER LH	SERVICEABLE	44.00	-
1	FRONT WIPER GARNISH	SERVICEABLE	98.00	-
2	FRONT WIPER SIDE GARNISH @\$55.20	SERVICEABLE	110.40	-
2	FRONT CHASSIS EXTENSION @\$311.20	TO REPAIR SEE LABOUR	622.40	-

Report Ref No. CS1/EQI22007651/Gcy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT CHASSIS END PLATE @\$152.20	TO REPAIR SEE LABOUR	304.40	-
1	FRONT SUPPORT PANEL	DAMAGED	949.30	949.30
1	FRONT SUPPORT PANEL TOP GARNISH	DAMAGED	125.00	125.00
1	AIRCON CONDENSER	DAMAGED	921.00	798.70
1	RADIATOR	DAMAGED	896.40	710.50
1	RADIATOR FAN MOTOR ASSY	SERVICEABLE	322.00	-
1	RADIATOR TOP HOSE	SERVICEABLE	104.00	-
1	RADIATOR NECK	SERVICEABLE	55.00	-
2	RADIATOR SIDE GARNISH @\$41.00	DAMAGED (1PC ONLY)	82.00	41.00
1	GEAR BOX OIL SUMP	SERVICEABLE	395.60	-
1	FUSE BOX	DAMAGED	223.00	223.00
1	AIR INTAKE SHIELD	MISSING	45.00	45.00
1	AIR FILTER BOX	DAMAGED	254.80	254.80
1	AIR CLEANER BOX	DAMAGED	205.00	205.00
1	AIR CLEANER BOX INTAKE DUCT	DAMAGED	142.00	142.00
1	RESONATOR ASSY	DAMAGED	199.10	199.10
1	AIR INTAKE DUCT EXTENSION	DAMAGED	35.00	35.00
2	FRONT FENDER @\$1227.80	DAMAGED (1PC ONLY)	2,455.60	966.80
1	FRONT FENDER INNER SHIELD LH	MISSING	99.00	99.00
1	FRONT FENDER 1/4 GARNISH LH	MISSING	71.00	71.00
1	FRONT FENDER INNER PANEL LH	TO REPAIR SEE LABOUR	355.00	-
1	FRONT FENDER TOP BRACKET LH	SERVICEABLE	65.10	-
1	FRONT FENDER OUTER GARNISH LH	MISSING	65.00	65.00
1	FRONT DOOR LH	TO REPAIR SEE LABOUR	986.50	-
1	FRONT DRIVE SHAFT LH	SERVICEABLE	936.70	-
1	FRONT SHOCK ABSORBER LH	SERVICEABLE	372.50	-
1	FRONT LOWER ARM LH	SERVICEABLE	299.00	-
1	FRONT KNUCKLE ARM LH	SERVICEABLE	451.00	-
1	FRONT KNUCKLE BEARING HUB LH	SERVICEABLE	202.00	-
1	FRONT KNUCKLE BEARING LH	SERVICEABLE	175.00	-

Report Ref No. CS1/EQI22007651/Gcy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT TIE ROD END OUTER LH	SERVICEABLE	102.00	-
1	FRONT TIE ROD END INNER LH	SERVICEABLE	124.00	-
	LESS 20% DISCOUNT		-4,263.72	-1,992.62
			17,054.88	7,970.48
	SPECIAL NETT ITEMS			
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	50.00	30.00
1	SET FRONT SUPPORT PANEL TOP GARNISH CLIPS (SN)	NECESSARY	25.00	25.00
1	SET FRONT RADIATOR GRILLE CLIPS (SN)	NECESSARY	20.00	20.00
1	FRONT TYRE LH (SN)	SERVICEABLE	300.00	-
1	FRONT TYRE RIM LH (SN)	SERVICEABLE	652.00	-
1	FRONT WINDSCREEN SEALANT (SN)	SERVICEABLE	50.00	-
1	FRONT NUMBER PLATE (SN)	MISSING	50.00	40.00
1	FRONT NUMBER PLATE GARNISH (SN)	DAMAGED	65.00	40.00
			1,212.00	155.00
	<u>LABOUR</u>			
	TO DISMANTLE, REPLACE, CUT, WELD, KNOCK OUT DENTS TO STRAIGHTEN ACCIDENT PARTS AS-MENTIONED ON THE 'PARTS REPAIR' COLUMN INCLUSIVE OF REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF FRONT CHASSIS EXTENSION, FRONT CHASSIS END PLATE, FRONT FENDER INNER PANEL LH AND FRONT DOOR LH.		2,160.00	800.00
	PUTTY & SPRAY PAINTING TO ADJACENT PANELS. JOB ALLOWANCE. PAINT / MATERIAL.		1,600.00	800.00
	APPLY RUST PROOFING ON THE ADJACENT PANELS.		150.00	60.00
	REMOVE / REFIX RADIATOR, TOP UP COOLANT & CONDUCT PRESSURE TEST.		90.00	40.00
	REMOVE AND REPLACE FRONT UNDERCARRIAGE WORK LH.	NOT NECESSARY	360.00	-
	REMOVE / REPLACE AIRCON CONDENSER AND REFILL AIRCON GAS.		135.00	80.00
	SPECIALIST CHARGES - WHEEL ALIGNMENT.	NOT NECESSARY	80.00	-
	SPECIALIST CHARGES - CONDUCT FRONT CHASSIS ALIGNMENT.	NOT NECESSARY	300.00	-
	PROGRAMMING / DIAGNOSTIC AND FAULTY CODE RESET.	NOT NECESSARY	400.00	-

Report Ref No. CS1/EQI22007651/Gcy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	WIRING / BULB CHECKING (INCLUSIVE OF RE-FOCUS / RE-ADJUST ON ANGLE OF LIGHT INTENSITY.)		90.00	30.00
			5,365.00	1,810.00
	GRAND TOTAL		23,631.88	9,935.48

RECOMMENDED COST OF LUMP SUM REPAIRS		7,950.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS1/EQI22007651/Gcy3e2

XING GUO QIANG

M.MATAI, AMSAE-A

**Automotive Assessor** 

X:2.

**ADRIAN LING WAI PING** 

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.